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What is Economics?  
 

“Economics is the study of how we the people engage ourselves in production, distribution 
and consumption of goods and services in a society.”  
Normative economics:  

 
Normative economics refers to value judgments, e.g. what “ought” to be the goals, of public 
policy. Normative statements cannot be tested.  
Positive Economics:  

 
The analysis of facts and behavior in an economy OR “the way things are.”  
Goods  

 
Are the things which are produced to be sold.  
Services  

 
Involve doing something for the customers but not producing goods.  
Factors of production:  

 
Factors of production are inputs into the production process. The factors of production are:  
¦ • Land includes the land used for agriculture or industrial purposes as well as  

 
Natural resources taken from above or below the soil  
¦ • Capital consists of durable producer goods (machines, plants etc.) that are in  

 
Turn used for production of other goods  
¦ • Labor consists of the manpower used in the process of production.  
¦ • Entrepreneurship includes the managerial abilities that a person brings to the  

 
Organization Entrepreneurs can be owners or managers of firms.  
Scarcity:  

 
Shortage of resources because economic resources are unable to supply all the goods 
demanded.  
Rationing  
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A process by which we limit the supply or amount of some economic factor which is 
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Economic Systems:  

 
A free market/capitalist economy is a system in which the questions about what to produce, 
how to produce and for whom to produce are decided primarily by the demand and supply 
interactions in the market.  
Dictatorship:  

 
A system in which economic decisions are taken by the dictator which may be an individual 
or a group of selected people  
Command or planned economy:  

 
A mode of economic organization in which the key economic functions – for whom, what, 
how to produce are principally determined by government directive.  
Optimum:  

 
Producing the best possible results (also optimal)  
Equity in economics:  

 
A situation in which every thing is treated fairly or equally, i.e. according to its due share  
Nepotism:  

 
Doing unfair favors for near ones when in power  
Microeconomics:  

 
The behavior of individual elements in the economy  
Macroeconomics:  

 
The economy as whole or on aggregate level  
Rational choice:  

 
The choice based on pure reason and without succumbing to one’s emotions or whims.  
Barter trade:  

 
A non-monetary system of trade in which “goods” not money is exchanged.  
Opportunity Cost:  

 
It is what must be given up or sacrificed in making a certain choice or decision.  
Marginal Cost:  

 
Marginal cost is the increment to total costs of producing an additional unit of some good or 
service.  
Marginal benefit:  
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The increment to total benefit derived from consuming an additional unit of good or service. 
2  

Come & Join Us at www.vustudents.ning.com



 
Production Possibility Frontier (PPF):  

 
The maximum amount of goods and services which the country can produce in a given time 
with limited resources, given a specific state of technology  
Economic growth:  

 
An increase in the total output of a country over time  
Perfect competition:  

 
A situation in which no firm or consumer is big enough to affect the market price.  
Shortage:  

 
Shortage is a situation in which demand exceeds supply, i.e. producers are unable to meet 
market demand for the product.  
Surplus:  

 
Situation of excess supply, in which market demand falls short of the quantity supplied  
Goods market:  

 
Market in which goods are bought and sold for the purpose of consumption  
Factors markets:  

 
Markets in which factors of production are bought and sold, for the purpose of production  
Normal goods:  

 
Whose quantity demanded goes up as consumer income increases.  
Inferior goods:  

 
Whose quantity demanded goes down as consumer income increases.  
Giffen goods:  

 
A special case of inferior goods whose quantity demanded increases when the price of the 
good rises  
Price effect:  

 
The sum of income and substitution effects  
Income effect:  

 
The effect of a price rise on quantity demanded that works through a decline in the real 
income (or purchasing power) of the consumer.  
Substitution effect:  
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Substitutes:  

 
Goods that compete with one another or can be substituted for one another, like butter and 
margarine  
Compliments:  

 
Goods that go hand in hand with each another.  
Cash crops:  

 
The crops which are not used as food but as a raw material in factories e.g. cotton  
Demand:  

 
Demand is the quantity of a good buyer wish to purchase at each conceivable price.  
Law of demand:  

 
If the price of a certain commodity rises, its quantity demanded will go down, and vice-versa.  
Demand function:  

 
An equational representation of demand as a function of its many determinants  
Demand curve:  

 
A graph that obtains when price (one of the determinants of demand) is plotted against 
quantity demanded.  
Supply:  

 
Supply is the quantity of a good seller wish to sell at each conceivable price.  
The law of supply:  

 
The quantity supplied will go up as the price goes up and vice versa.  
Supply schedule:  

 
A table which shows various combinations of quantity supplied and price.  
Supply function:  

 
An equational representation of supply as a function of all its determinants  
Supply curve:  

 
When price is plotted against quantity supplied.  
Determinants of supply are:  
¦ • Costs of production  
¦ • Profitability of alternative products (substitutes in supply)  
¦ • Profitability of goods in joint supply  
¦ • Nature and other random shocks  
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¦ • Aims of producers  
¦ • Expectations of producers  

Equilibrium:  
 

Equilibrium is a state in which there are no shortages and surpluses; in other words the 
quantity demanded is equal to the quantity supplied.  
Equilibrium price:  

 
It is the price at which the quantity demanded is equal to the quantity supplied.  
Equilibrium quantity:  

 
The quantity at which the quantity demand is equal to the quantity supplied.  
Algebraic Representation of Equilibrium:  

 
If we have following demand and supply functions,  

Qd = 100 – 10 P  
Qs = 40 + 20 P  
In equilibrium,  

Qd = Qs  
Therefore  

100 - 10P = 40 + 20P  
20P + 10P = 100 - 40  

30P = 60  
P = 60/30  

P = 2  
Putting the value of price in any of demand and supply equation,  

 
Q = 100 – 10x2 (or 40 + 20x2)  

Q = 100 – 20  
Q = 80  

The equilibrium price is 2 and the equilibrium quantity is 80.  
Government and Price-Determination:  

 
The government may intervene in the market and mandate a maximum price (price ceiling) 
or minimum price (price floor) for a good or service.  
Price ceiling:  
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Price floor:  

 
The minimum price that a Government sets to support a desired commodity or service in a 
society (wages for e.g.).  
Social cost:  

 
The cost of an economic decision, whether private or public, borne by the society as a 
whole.  
Marginal social cost:  

 
The change in social costs caused by a unit change in output  
ELASTICITIES  

 
Elasticity is a term widely used in economics to denote the “responsiveness of one variable 
to changes in another.”  
Types of Elasticity:  

 
There are four major types of elasticity:  
¦ • Price Elasticity of Demand.  
¦ • Price Elasticity of Supply.  
¦ • Income Elasticity of Demand.  
¦ • Cross-Price Elasticity of Demand.  

 
Price Elasticity of Demand:  

 
Price elasticity of demand is the percentage change in quantity demanded with respect to the 
percentage change in price.  

PЄd = Percentage change in Quantity demanded / Percentage change in Price  
Where Є = Epsilon; universal notation for elasticity.  
Price Elasticity of Supply:  

 
Price elasticity of supply is the percentage change in quantity supplied with respect to the 
percentage change in price.  

PЄs = Percentage change in Quantity Supplied / Percentage change in Price  
Income Elasticity of Demand:  

 
Income elasticity of demand is the percentage change in quantity demanded with respect to 
the percentage change in income of the consumer.  

YЄd = Percentage change in Quantity demanded / Percentage change in Income  
Cross-Price Elasticity of Demand:  
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Cross price elasticity of demand is the percentage change in quantity demanded of a specific 
good, with respect to the percentage change in the price of another related good.  
PbЄda = Percentage change in Demand for good a / Percentage change in Price of 
good b  
Point Elasticity:  

 
Point elasticity is used when the change in price is very small, i.e. the two points between  
The formula for point elasticity can be illustrated as:  
Є= ∆Q x P 

∆ P Q  
Or this formula can also be written as:  
Є= dQ x P 

dP Q  
Where d = infinitely small change in price.  
Arc Elasticity:  

 
Arc elasticity measures the “average” elasticity between two points on the demand curve.  

Є = ∆ Q ÷ ∆ P 
Q P  

To measure arc elasticity we take average values for Q and P respectively.  
Elastic and Inelastic Demand:  

 
Slope and elasticity of demand have an inverse relationship. When slope is high elasticity of 
demand is low and vice versa.  
Perfectly inelastic demand:  

 
When the slope of a demand curve is infinity, elasticity is zero  
Perfectly elastic demand:  

 
When the slope of a demand curve is zero, elasticity is infinite.  
Unit elasticity:  

 
A 1% change in price will result in an exact 1% change in quantity demanded. Thus elasticity 
will be equal to one. A unit elastic demand curve plots as a rectangular hyperbola.  
Note that a straight line demand curve cannot have unit elasticity as the value of elasticity 
changes along the straight line demand curve.  
Total revenue and Elasticity:  
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Total revenue (TR) = Price x Quantity; when the demand curve is inelastic, TR increases as 
the price goes up, and vice versa; when the demand curve is elastic, TR falls as the price goes 
up, and vice versa.  
Determinants of price elasticity of demand:  
a) Number of close substitutes within the market - The more (and closer) substitutes 

available in the market the more elastic demand will be in response to a change in price. 
In this case, the substitution effect will be quite strong.  

b) Percentage of income spent on a good - It may be the case that the smaller the 
proportion of income spent taken up with purchasing the good or service the more 
inelastic demand will be.  

c) Time period under consideration –  
 

Demand tends to be more elastic in the long run rather than in the short run.  
Effects of Advertising on Demand Curve:  

 
Advertising aims to:  
• Change the slope of the demand curve – make it more inelastic. This is done by generating 
brand loyalty;  
• Shift the demand curve to the right by tempting the people’s want for that specific product.  
Normal Goods:  

 
If the sign of income elasticity of demand is positive, the good is normal.  
Inferior Goods:  

 
If sign is negative, the good is inferior.  
Determinants of Income Elasticity of Demand:  

 
The determinants of income elasticity of demand are:  
• Degree of necessity of good.  
• The rate at which the desire for good is satisfied as consumption increases  
• The level of income of consumer.  
Short Run:  

 
Short run is a period in which not all factors can adjust fully and therefore adjustment to 
shocks can only be partial.  
Long run:  
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A period over which all factors can be changed and full adjustment to shocks can take place.  
Rational Choice:  

 
Rational choice consists in evaluating the costs and benefits of different decisions and then 
choosing the decision that gives the highest benefit relative to cost.  
Ignorance and Irrationality:  

 
There is a difference between “ignorance” and “irrationality.” A person operating under 
uncertainty and thus at least partial ignorance can still make rational decisions by taking into 
account all the information she has at her disposal. Rationality is an ex-ante concept.  
CONSUMER BEHAVIOR:  

 
There are two approaches to analyzing consumer behavior;  
• Marginal utility analysis  
• Indifference curve approach.  
Utility is the usefulness, benefit or satisfaction derived from the consumption of goods and 

services.  
Total utility is the entire satisfaction one derives from consuming a good or service.  
Marginal utility is the additional utility derived from the consumption of one or more unit 

of the good.  
The Law of Diminishing Marginal Utility:  

 
The law of diminishing marginal utility states that as you consume more and more of a 
particular good, the satisfaction or utility that you derive from each additional unit falls.  
The marginal utility curve slopes downwards in a MU-Q graph showing the principle of 

diminishing marginal utility.  
Consumer Surplus and Optimal Point of Consumption:  

 
Consumer surplus is the difference between willingness to pay and what the consumer 
actually has to pay: i.e. CS= MU-P.  
The optimal point of consumption:  

 
That point where consumer surplus becomes zero. If marginal utility is greater than price, 
consumption will increase causing MU to fall until it equals price, and vice versa.  
The Equi-marginal Principle:  
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In the case of more than two goods, optimum consumption point can be arrived at by using 
the equi-marginal principle. This state that a person will derive a maximum level of TU from 
consuming a particular bundle of goods when the utility derived from the last dollar spent 
on each good is the same:  

• MUa = MUb = MUc …………….  
• Pa Pb PC  

 
The Problem of Uncertainty:  

 
The problem of uncertainty is integral to consumption decisions especially in the matter of 
purchasing durable goods. Uncertainty means assigning probabilities to the outcomes.  
A consumer’s response to uncertainty depends upon her attitude to risk: whether she is:  

¦ Risk averse.  
¦ Risk-loving.  
¦ Risk neutral.  

 
Risk means to take a chance after the probabilities have been assigned.  
The odds ratio (OR) is the ratio of the probability of success to the probability of failure. It 

can be equal to 1, less than 1 or greater than 1. If it is equal to 1 we call it fair odds, if 
less then 1 unfavorable odds, and if greater 1 then favorable odds.  

A risk neutral person is one who buys a good when OR > 1. He is indifferent when OR = 
1 and will not buy when OR < 1.  

A risk averse person will not buy if OR < 1. He will also not buy if OR = 1. He might also 
not decide to buy if OR > 1.  

A risk loving person will buy if OR > 1 or = 1, but he might also buy when OR is < 1.The 
degree of risk aversion increases as your income level falls, due to diminishing marginal 
utility of income.  

Risk hedging:  
 

Can be used to reduce the extent to which concerns about uncertainty affect our daily lives.  
An indifference curve:  

 
A line which charts out all the different points on which the consumer is indifferent with 
respect to the utility he derives.  
Marginal rate of substitution (MRS):  
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The indifference curve between any two points is given by the change in the quantity of 
good Y divided by change in the quantity of good X. This is called the.  
A diminishing marginal rate of substitution (MRS) is related to the principle of 

diminishing marginal utility. MRS is equal to the ratio of the marginal utility of X to the 
marginal utility of Y.  

¦ dY = MUX = MRS  
¦ dX MUY  

The indifference curve for perfect substitutes is a straight line, while it is L-shaped for 
perfect compliments.  

The Budget Line:  
 

The budget line shows various combinations of 2 goods X & Y that can be purchased.  
Input price ratio:  

 
Budget line’s slope –Px/PY is called input price ratio.  
The optimum consumption point for the consumer:  

 
Where the budget line is tangent (intersect) to the highest possible indifference curve at such 
a point, the slopes of the indifference curve and the budget line are equal. In other words:  

• MRS = Px/Py = ∆Y/∆X = MUx/MUy.  
 

Just as we can use indifference analysis to show the combination of goods that maximizes 
utility for a given budget, so too we can show the least-cost combination of goods that yields 
a given level of utility.  
The Income Consumption Curve (ICC):  

 
Change in curve due to change in income  
Price Consumption Curve (PPC):  

 
Change in curve due to change in Price  
When the price of one good change, two things happen:  
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• Secondly, the slope of budget line changes due to a change in the relative price ratio (leads 
to substitution effect).  
Income & Substitute Effect:  
The substitution effect of a price rise is always negative, while the income effect of a price 

rise on the consumption of a normal good is negative. The income effect for an 
inferior good is positive. The income effect of a Giffen good is so positive that it offsets 
the negative substitution effect, therefore.  

Limitation of Indifference Approach:  
 

The indifference curves approach has the following limitations:  
¦ Indifference curve analysis is only possible for 2 or at best for 3 goods.  
¦ It is almost impossible to practically derive indifference curves.  
¦ The consumer may not always behave rationally.  
¦ The consumer may not always realize the level of utility (ex-post) from 

consumption, that she originally expected (ex-ante).  
¦ Indifference curve analysis can not help when one of the goods (X or Y) 

is a durable good.  
 

Firm:  
 

A firm is any organized form of production, in which someone or a collection of individuals 
are involved in the production of goods and services. A firm can be sole proprietorship (one 
person ownership), partnership (a limited number of owners) or a limited company (a large 
number of changing shareholders).  
Production Function:  

 
A production function is simply the relationship between inputs & outputs.  
Mathematically it can be written as:  

Q = f (K, L, N, E, T, P……….)  
 

Where,  
Q = Output = Total product produced  
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L = Labor  
N = Natural resources  
E = Entrepreneurship  
T = Technology  
P = Power  
Cobb Douglas production function:  

Q = A Kα L1 – α  
 

Where:  
Q = output  
L = labor input  
K = capital input  
A, α and 1 – α are constants determined by technology.  
Short run:  

 
Short run is a period of time in which at least one of the factors of production is fixed or 
Unchangeable  
Long run:  

 
Long run is a period of time in which all the factors of production used in the production 
are flexible. The actual length of the short run and long-run can vary considerably from 
industry to industry.  
The Law of Diminishing Marginal Returns:  

 
The law of diminishing marginal returns states that as you increase the quantity of a variable 
factor together with a fixed factor, the returns (in terms of output) become less and less.  
The total physical product (TPP)  

 
A factor (F) is the latter’s total contribution to output measured in units of output produced.  
Average physical product (APP):  

 
Is the TPP per unit of the variable factor  

APP = TPPF/QF  
Marginal physical product (MPP)  
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MPPF = ∆TPPF/∆QF  

Relationship between APP and MPP:  
 

• If the marginal physical product equals the average physical product, the average physical 
product will not change.  
• If the marginal physical product is above the average physical product, the average physical 
product will rise.  
• If the marginal physical product is below the average physical product the average physical 
product will fall.  
If population is increasing and output remains constant:  

 
Then diminishing returns set in and therefore average per capita production/consumption 
can be expected to fall ceteris paribus(all factor effect demand should remain constant).  
A firm is confronted with three more decisions;  

¦ Scale of production,  
¦ Location, size of industry  
¦ Optimum combination of inputs.  

 
The Scale of Production:  

 
Change in production or increasing, decreasing return if due to the change in scale of 
production.  
The location, size of Decision:  

 
The location decision depends upon both the location of raw material suppliers and the 
location of the market. The nature of the product, transportation costs, availability of 
suitable land for production, stable power supply and good communications network, 
availability of qualified and skilled workers, level of wages, the cost of local services and 
availability of banking and financial facilities are among some other important factors. The 
size of an industry can lead to external economies and diseconomies of scale.  
External Economies and Diseconomies of Scale:  

 
External economies are benefits accruing to any one firm due to actions or the presence of 
other firms. For example, advertising by a rival industry, setting up of credit information 
bureaus by banks.  
The Optimum Combination of Factors:  
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The optimum combination of factors will obtain at the point where the marginal physical 
product of the last dollar spent on all inputs is equal, i.e.:  

MPPK = MPPL 

PK PL  

Isoquant:  
 

An isoquant represents different combinations of factors of production that a firm can 
employ to produce the same level of output.  
Marginal Rate of Technical Substitution (MRTS):  

 
The slope of an isoquant is called marginal rate of technical substitution (MRTS).  
Budget Line:  

 
Amount of money needed or available  
COST:  

 
Expense incurred in production.  
Variable Cost:  

 
Costs which vary with the level of activity (or output) are called variable costs.  
Fixed Costs:  

 
Costs which do not vary with the level of activity or output are called fixed costs. In long run 
there are no fixed costs.  
Relationship between costs and productivity:  

 
There is an inverse relationship between costs and productivity, i.e. as productivity rises, 
costs fall and vice versa.  
Total Cost:  

 
Total cost (TC) is the sum of all fixed and variable costs.  
Average Cost:  

 
Average cost (AC) is the vertical summation of the AFC & AVC, where  

AC = AFC + AVC  
 

AFC = TFC/Q and  
AVC = TVC/Q.  
Marginal Cost:  
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Marginal cost is the addition to TC caused by a unit increase in output. More generally:  
MC = ∆TC/∆Q.  

The Long-Run Average Cost Curve (LRAC):  
 

The long-run average cost (LRAC) curve for a typical firm is U shaped.  
As a firm expands, it initially experiences economies of scale (due to productive efficiency, 
better utilization of resources etc.); in other words it faces a downward sloping LRAC curve.  
After the scale of operation is increased further, however, the firm achieve constant costs 
i.e., LRAC become flat.  
If the firm further increases its scale of operation, diseconomies of scale set in (due to 
problems with managing a very large organization etc.) and the LRAC assumes a positive 
slope.  
Long-run marginal cost (LRMC):  

 
In case a firm is enjoying economies of scale, each incremental unit will cost less than the 
preceding one i.e., LRMC will be falling. The opposite will be true for diseconomies of scale. 
In case of constant costs, each incremental unit will cost the same, i.e., the LRMC will be 
constant.  
Envelope curve:  

 
The LRAC curve for a firm is actually derived from its SRAC curves. The exact shape of the 
LRAC is a wave connecting the least cost parts of the SRAC curves. In practice however, 
LRAC is shown as a smooth U-shaped curve drawn tangent to the SRAC. This is also called 
an envelope curve.  
REVENUES  

 
Revenues are the sale proceeds that accrue to a firm when it sells the goods it produces.  
Total Revenue (TR):  

 
Total revenue (TR), average revenue (AR) and marginal revenue (MR) concepts apply in the 
same way as they did to TC, AC and MC.  

TR = P x Q  
Average Revenue (AR)  

AR = TR/Q  
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AR is almost always equal to price unless the firm is engaged in price discrimination.  
Marginal Revenue (MR):  

MR = ∆TR/∆Q.  
¦ Price-taker:  

 
A firm that does not have the ability to influence market price is a price-taker.  
For a price taker, AR=MR=P. In this case TR is a straight line from the origin. The demand 
(or AR) curve the firm faces is a horizontal line.  
Price-maker Firm:  

 
A firm that influences the market price by how much it produces can be called a price-maker 
or price-setter.  
Normal economic profit:  

 
Economists say that when firms earn zero accounting profits, they actually earn normal 
economic profits.  
Positive profits (supernormal profits):  

 
Positive profits are, for this reason, called supernormal profits as they are over and above 
what the owners normally require as a return for their entrepreneurship.  
Profit maximization using calculus:  

 
If total revenue (TR) and total cost equation are given as follows:  

TR = 48q – q2  

TC = 12 + 16q + 3Q2  
 

Then we can find out the value of output at which profit is maximized as under:  
Solution:  
Profit is maximized at the point where  

MC = MR  
 

MC function can be found by taking derivative of total cost function. i.e.:  
MC = d TC / dQ  
MC = 16 + 6Q  
MR function can be found by taking derivative of total revenue (TR) function i.e.:  
MR = d TR / dQ  
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As profit is maximized at the point where MR = MC, so by equating values of MC and MR 
function, we get,  
MR =MC  

 
16 + 6Q = 48 – 2Q  
6Q + 2Q = 48 – 16  
8Q = 32  
Q = 4  
The equation for total profit is,  
Tñ = TR – TC  
= 48Q – Q2 - (12 + 16Q + 3Q2)  
= 48Q – Q2 – 12 – 16Q – 3Q2  

= -4Q2 + 32Q – 12  
Putting Q = 4, we get,  
Tñ = - 4(4)2 + 32 (4) – 12  
= -64 + 128 - 12  
Tñ = 52  
So profit is maximized where output is 4 and the maximum profit is 52.  
MARKET STRUCTURES  

 
Market structure refers to how an industry (broadly called market) that a firm is operating in 
is structured or organized.  
The key ingredients of any market structure are:  
• Number of firms in the market/industry  
• Extent of barriers to entry  
• Nature of product  
• Degree of control over price.  
Four broad market structures have been identified by economists:  

 
• Perfect competition  
• Monopoly  
• Monopolistic competition  
• Oligopoly.  
PERFECT COMPETITION  
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Large number of buyers and sellers, therefore firms price-takers.  
No barriers to entry (also implies free mobility of factors of production).  
Identical/homogeneous products Perfect information/knowledge  
Perfect competition can be thought of as an extreme form of capitalism, i.e. all the firms 
are fully subject to the market forces of demand and supply.  
Concentration ratio:  

 
Is used to assess the level of competition in an industry It is simply the percentage of total 
industry output that is produced by the 5 largest firms in the industry.  
The Short Run and Long Run under Perfect Competition:  

 
The short run is the period where at least one factor of production is fixed. In perfect 
competition, it also means that no new firms can enter the market. In the long run, all the 
factors of production are variable.  
Allocative efficiency: (the point of maximum allocative efficiency)  

 
The optimal point of production for any individual firm is where  
MR=MC. The optimal point of production for any society is where price is equal to marginal 
cost. This is called the point of maximum allocative efficiency  
Productive efficiency:  

 
This is attained when firms produce at the bottom of their AC curves, that is, goods are 
produced in the most cost efficient manner. Perfectly competitive firms also achieve this in 
the long run because they produce at P=MC  
MONOPOLY  

 
A situation where there is a single producer in the market.  
PRICE DISCRIMINATION  

 
Price discrimination (PD) happens when a producer charges different prices for the same 
product to different customers.  
Types of Price Discrimination:  

 
PD can be of three types:  
1st degree (everyone charged according to what he can pay),  
2nd degree (different prices charged to customers who purchase different quantities) and  
3rd degree (different prices to customers in different markets)  
MONOPOLISTIC COMPETITION  
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Monopolistic competition is also characterized by a large number of buyers and sellers and 
absence of entry barriers.  
OLIGOPOLY  

 
Similar to monopoly in the sense that there are a small number of firms (about 2-20) in the 
market and, as such, barriers to entry exist.  
Collusion:  

 
Collusion occurs when two or more firms decide to cooperate with each other in the setting 
of prices and/or quantities.  
Cartel:  

 
A cartel is most likely to survive when the number of firms is small, there is openness among 
firms regarding their production processes.  
Break down of Collusive Oligopoly:  

 
A collusive oligopoly (say based on production quotas) is likely to break down when the 
incentive to cheat is very high. This can arise, for instance, in a situation where there is a lure 
of very high profits so that individual firms cheat on their quota and try to increase output 
and profits.  
Prisoner’s Dilemma Situation:  

 
A prisoner’s dilemma situation for oligopolistic firms arises when 2 or more firms by 
attempting independently to choose the best strategy anticipation of whatever the others are 
likely to do, all end up in a worse position than if they had cooperated in the first place.  
Maximin:  

 
Maximin strategy is a cautious (pessimistic) approach in which firms try to maximize the 
worst payoff they can make.  
Maximax strategies:  

 
A maximax strategy involves choosing the strategy which maximizes the maximum payoff 
(optimistic).  
Kinked Demand Curve:  

 
A kinked demand curve explains the “stickiness” of the prices in oligopolistic markets.  
Non Price Competition:  
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Non price competition means competition amongst the firms based on factors other than 
price, e.g. advertising expenditures. 20  
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IMPORTANT QUESTIONS 
a) What are the factors of productions? 
b) State the Law of DEMAND/ Supply? 
c) Law of Equi- Marginal Utility 
d) Law of Diminishing Marginal Utility 
e) Types of Elasticity 
f) Define production function. 
g) Broad market structure 
h) Solve the equation: 

 
MC=MR  

Or  
Qd =Qs  

SHORT ANSWERS: 
  
1. Define balance of payment (BOP). How the BOP can be determined? 3 marks 
Ans: BOP:
                  A systematic record of a nation's total payments to foreign countries, 
including the price of imports and the outflow of capital and gold, along with the total 
receipts from abroad, including the price of exports and the inflow of capital and gold. 
  
BOP can be determined: 
Ans: The BOP is determined by the country's exports and Imports of goods, services, and 
financial capital, as well as financial transfers. It reflects all payments and liabilities to 
foreigners (debits) and all payments and obligations received from foreigners (credits). 
 
BOP as an indicator of economic and political stability: 
BOP is difference the value of imports and exports of goods and services. If the imports 
value of goods and services is greater than exports then BOP is deficit, on the other hand, 
if exports value is greater than import value then balance of payment is surplus. In this 
way, BOP is used as an indicator of economic and political stability of any country, if 
BOP is surplus then it means the country is having good stability and is developing 
country or vice versa. 
                                                     ************************* 
 
2. It is said that growth is an important macroeconomic issue. Why? Discuss 3 
marks 
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Ans: Economic growth is important if businesses are to grow and prosper. It relates to 
growth in the size and quality of the economy as a whole. Growth is measured as the 
change in the gross domestic product of a country, after subtracting inflation. The 
economic growth of a country when compared with rivals is an important indicator of 
rising opportunities for domestic business. The long-term path of economic growth is one 
of the central questions of economics today; an increase in growth rate of a country is 
generally taken as an increase in the standard of living of its inhabitants. Over long 
periods of time, even small rates of annual growth can have large effects through 
compounding or exponential growth. 
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                                                       ********************* 
 3. Define unemployment? 3 marks 
Ans: Definition:  
An economic condition marked by the fact that individuals actively seeking jobs remain 
un hired. Unemployment is expressed as a percentage of the total available work force. 
The level of unemployment varies with economic conditions and other circumstances. 
 
Unemployment Rate: 
The unemployment rate is defined as the ratio of the no. of unemployed people divided 
by the sum of the employed and unemployed people. 
 
Types of Unemployment:  
1. Frictional unemployment: occurs when a worker moves from one job to another 
2. Structural unemployment: is caused by a mismatch between the location of jobs and 
the location of job-seekers.  
3. Cyclical unemployment: also known as demand deficient unemployment, occurs 
when there is not enough aggregate demand for the labor 
4. Technological unemployment: is caused by the replacement of workers by machines 
or other advanced technology. 
5. Classical or real-wage unemployment: occurs when real wages for a job are set 
above the market-clearing level. 
                                                       *************** 
6. What are the basic functions of Central Banks? 
1. The single most important function of a central bank is to create an adequate supply of 
money for a government's use. 
2. Acting as a lender of last resort to the banking sector during times of financial crisis. 
3. To influence market interest rates of country. 
4. Through open market operations, a central bank influences the money supply in an 
economy directly. 
5. The Central Banks act as financial agents for the government. It is an agent for the 
government in purchasing and selling of gold and foreign exchange. 
                                                        ************** 
7. On what factors steady state growth rate of real GDP depends? (3) 
Ans: The steady-state growth rate of real GDP depends on n and t, the exogenous rates of 
growth of population and technology. By exogenous, we mean determined outside the 
model. Thus, there were no policy insights for how  
governments could affect the steady state growth rates of countries. In  
particular, the model suggested that higher savings could only have a level  
effect on income, not a long-term growth effect as had been earlier thought.  
The reason was that savings-enabled investment and capital accumulation  
eventually banged into diminishing returns. 
 
                                             ********************* 
8 Why Marginal Revenue and price are equal under perfect competition?  
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Ans: Marginal revenue under perfect competition:
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Marginal revenue is the extra revenue generated when a perfectly competitive firm sells 
one more unit of output. It plays a key role in the profit-maximizing decision of a 
perfectly competitive firm relative to marginal cost. 
Marginal revenue=          change in total revenue 
                                              change quantity 
 
Price under perfect competition: 
Price under perfect competition is determined by the forces of demand and supply of the 
industry. The price once fixed up by the industry is taken up by all the firms and the firm 
can sell any number of units at hat price. The firm may earn normal profits, super normal 
profits in the short run whereas it earns normal profits in the long run.  
                                        ******************* 

9. What is the reason of poverty in developing countries according to Prebisch 
singer hypothesis?:3m 

Ans: Following are some reasons of Poverty in developing countries according to PSH: 

1. Lack of human, social and public capital in LICs( Lower income countries) 
2. Very fast rising populations in LICs 
3. Lack of precious natural resources (like oil, gold, gas, iron, copper etc.)  

                     *********************** 

10. Differentiate b/w actual GDP and potential GDP?:3m 

ANS: Actual GDP:  

                          Actual GDP is what an economy actually produces. 

                                                       While 
 
Potential GDP 
Potential GDP is what the economy would produce if all its resources vis. Land, labor, 
and production capacity were fully employed at their normal levels of utilization.  
 
GDP Gap: 
The forfeited output of a country's economy resulting from the failure to create sufficient 
jobs for all those willing to work. 
OR 
The difference between potential and actual real GDP, expressed as a percentage of 
potential real GDP.  
The GDP gap or the output gap is the difference between actual GDP and potential GDP 
or potential Output.  
At the time of the economic boom, actual GDP crosses the potential GDP, thus 
generating a positive gap. During recession the GDP gap is negative. 
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                                                    ********************** 
 
11. What type of taxes govt. can impose? Explain them briefly? 
 
1. Direct tax 
2. Indirect tax 
3. Regressive tax 
4. Proportional tax 
5. Progressive tax 
 

1. Direct tax: 
                               A tax on income, including wages, rent, interest, profit, and (usually) 
transfer payments is known as direct tax or income tax. 
       *Personal income tax:  
                                         A tax on individual income. This is the primary source of 
revenue for the federal government, a big source for many state and local governments. 
       *Corporate income tax:  
                                            A tax on the accounting profits of corporations. This tax is 
only levied on corporations, and excludes businesses that are Proprietorships or 
partnerships. 
 
2. Indirect tax: 
             *Sales tax: A tax on retail sales. 
             *Excise tax: A tax on a specific good. This should be compared with a general 
sales tax, which is a tax on all (or nearly all) goods sold. 
             *Value-added tax: A tax on the extra value added during each stage in the 
production of a good. 
 
3. Proportional tax 
It is a tax in which people pay the same percentage of income in taxes regardless of their 
incomes. 
 
4. Progressive tax 
It is a tax in which people with more income pay a larger percentage in taxes. 
 
5. Regressive tax 
It is a tax in which people with more income pay a smaller percentage in taxes. 
                                                    **************************** 
 
12. Write the difference between cost push inflation & demand pull inflation with 
example? 
Ans: Cost push inflation:
            It is a type of inflation caused by large increases in the cost of important goods or 
services where no suitable alternative is available. Also called cost inflation, it is the 
opposite of demand-pull inflation. 
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• Increases in factor prices e.g. oil price increase. 
• An increase in wage settlements in excess of any increase in productivity. 
• A devaluation or depreciation of currency leading to an increase in import prices. 
• Interest rate increases will increase the cost of borrowing. 
• Indirect taxation or the removal of subsidies 

                                      While  

Demands pull Inflation:  
A term used in Keynesian economics to describe the scenario that occurs when price 
levels raise because of an imbalance in the aggregate supply and demand. 
REASONS FOR THIS INFLATION: 
1. Increase in wages and salaries 
2. Increase in profit margin 
3. Decrease in productivity 
4. Cost of imported capital and intermediary goods 
5. Natural disasters 
                                       ************************* 
                              
13. “Slope of consumption function is less then 1” What its mean is? 
It means that for every extra dollar you get in income, you spend less than one dollar. 
This relationship is also called the marginal propensity to consume, which is less than 1 
and greater than zero. 

Or  
The slope of the consumption function is called the "Marginal Propensity to Consume". It 
is assumed to be between zero and one, which means that each one more dollar of 
disposable income will increase one's consumption by less than one dollar. 
                                                ******************* 
14. At what point, the equilibrium occurs in the foreign exchange market? 
Ans: the equilibrium occurs in the foreign exchange market at the point where the foreign 
exchange demand and supply curves intersects.   
 
15. What are the reasons that poor countries remained poor? 

• Not enough natural resources. For many centuries this was a popular reason, and 
maybe it applied when transportation was so expensive that trade could not supply 
what a country (or region of a country) lacked.  

• Overpopulation. The most populous country in Europe is the Netherlands, and the 
most populous state in the US is New Jersey. Both are among the most 
prosperous.  

• Lack of skills. This is popular today. However, India has many skilled people who 
cannot find jobs.  
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• Traditional modes of production and traditional organization of society. This has 
been very important, and traditional producers often have the political power 
prevent competition. The most spectacular example of this is the ability of 
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Japanese farmers to prevent competitive imports, given that Japan is an otherwise 
very progressive nation.  

                                             ********************* 

16. Explain the difference between appreciations and depreciation of currency. 
depreciation A decline in the value of one currency relative to another currency. 
Depreciation occurs when, because of a change in exchange rates; a unit of one currency 
buys fewer units of another currency. 
Appreciation Currency Appreciation means that the given currency has become more 
valuable with respect to another currency. For example if the rupee appreciates it means 
that rupee has become more valuable in relation to dollar. In case of appreciation a 
"downward" movement takes place. For instance if the rupee moves downwards from 50 
per dollar to 40 per dollar then rupee is said to appreciate. 

 ************************* 

17. Differentiate among M0, M1 and M2 components of money supply? 
There is a process by which money is created – the money supply process, and there are 
ideas about why people hold money – money demand theories. We’ll tackle these in 
order and then develop an under standing of money market equilibrium. Before getting a 
handle of the money supply process, we must understand the various definitions of 
money supply (denoted by Ms). At this introductory stage, we’ll introduce only three 
definitions: 
a. M0: also called base money, high powered money or the monetary base. M0 is the 
value of all the currency notes and coins that are in circulation in the economy. Note that 
any currency or coins lying with the central bank (which in Pakistan’s context, would be 
the State Bank of 
Pakistan) does not count as M0, as it is not in circulation. 
b. M1: is M0 + all current (or checking) deposits held with commercial banks. Checking 
deposits are accounts from which the holders can withdraw money at any time. 
c. M2: is M1 + all time deposits. Time deposits are accounts from which holders can 
withdraw money only after giving the banks some notice (usually a few months). When 
talking about money supply, this is the measure we often refer to. The relationship 
between M2 and M0 is the key to unraveling the money supply process. 
                                                    ************************* 
 
18. Define fiscal policy. Differentiate between contractionary and expansionary 
fiscal policy. In which situations, budget deficit and budget surplus exist? 
Definition: 
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Decisions by the President and Congress, usually relating to taxation and government 
spending, with the goals of full employment, price stability, and economic growth. By 
changing tax laws, the government can effectively modify the amount of disposable 
income available to its taxpayers. For example, if taxes were to increase, consumers 
would have less disposable income and in turn would have less money to spend on goods 
and services. This difference in disposable income would go to the government instead of 
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going to consumers, who would pass the money onto companies. Or, the government 
could choose to increase government spending by directly purchasing goods and services 
from private companies. This would increase the flow of money through the economy 
and would eventually increase the  
 
Contractionary fiscal policy:  A form of stabilization policy consisting of a decrease in 
government spending and/or an increase in taxes. This policy is designed to avoid or 
correct the problems associated with a business-cycle expansion that gets out of hand and 
causes inflation. 
                                                                  While 
Expansionary fiscal policy: 
It is a form of stabilization policy consisting of an increase in government spending 
and/or a decrease in taxes. This policy is designed to avoid or correct the problems 
associated with a business cycle contraction. 
 
Budget Deficit: 
If i>ii: the government is said to be running a fiscal or budget deficit and so the 
government must borrow (or raise debt) to cover the deficit. 
Budget Surplus: 
If i<ii: the government is said to be running a fiscal or budget surplus and so the 
government can pay-off or reduce its debt. 
Balanced Budget: 
If i=ii: the government is said to be running a balanced budget and the government’s net 
debt may remain constant. 
                                                       ************************* 
19. Define foreign exchange markets. Also give some examples of foreign exchange 
markets. 
Ans: Global market in convertible currencies is traded and their conversion rates are 
determined. It is the world's largest financial market in which every day, on average, 
some one and one-half trillion dollar worth of currencies are bought and sold. Out of this 
only about 15 percent is traded for goods or services, the balance 85 percent is traded by 
the individual and institutional speculators. 
UK , GERMANY, JAPAN ETC. 
                                                        ************************ 
 

20. Differentiate between Gross National Product and Net National Product by 
giving their formulas.? (5) 

Ans: The Gross National Product (GNP) is the value of all the goods and services 
produced in an economy, plus the value of the goods and services imported, less the 
goods and services exported. 

                                               While  

www.vustudents.ning.com  

The total amount of goods and services produced in a nation in a given period of time 
less the quantity of goods and services needed for its production. 
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